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Question 1.Select the related word/letters/numbers from the given alternatives:

& I farehenl & & Hafeerd Qree/ 3ieR/Ean 1 v
Medicine : Patient : : Education : ?

Jitwfey : e R ?
Options:

1) Teacher

g9

2) School

[Eruicey

3) Student

e

4) Tuition

&Nz

Correct Answer: Student
e

Candidate Answer: Student
BIE)

Question 2.Select the related word/letters/numbers from the given alternatives:

& 71 faemedt 7 @ Hafeerd eree)sarl/aear & gfav)
LAMP : IXJM :: FISH : ?

Options:

1) CGPF

2) CFQE

3) CFPE

4) CGQF
Correct Answer: CFPE
Candidate Answer: CFPE

Question 3.Select the related word/letters/numbers from the given alternatives:

3 1 ol & @ Haferd eree) 3R/ aedr # g
13:20::17:7

Options:

1) 25

2) 26

3) 27

4) 28
Correct Answer: 28
Candidate Answer: 25
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Question 4.

For the following questions

Find the odd word / letter / number from the given alternative

fow 91T faehodt & & fawe ereey 37T/EEaT H YT
Options:

1) Rival

gfdegsar

2) Opponent

Erualy

3) Foe

g

4) Ally

iE:F)

Correct Answer: Ally

EES

Candidate Answer: Rival

gfdeaear

Question 5.

For the following questions

Find the odd word / letter / number from the given alternative

T 1T faehedt 3 & fawa Qe 3T/ HET I gAT

Options:
1) POCG

2) KLIZ
3) BUDX

4) FQMV
Correct Answer: FQMV
Candidate Answer: KLIZ

Question 6.

For the following questions

Find the odd word / letter / number from the given alternative

U 1w fashodt & & Tawe ereey 376 /HET i iaw
Options:
1) 36 - 48
2) 56 - 44
3) 78 - 66

4) 33 - 64
Correct Answer: 33 - 64
Candidate Answer: 33 - 64

Question 7.Arrange the following words as per order in the dictionary

ol el &t ergeier # faw 710 %7 % 7er fafET

1. Ambitions
2. Ambiguous
3. Ambiguity
4. Animation
5. Animal



Options:
1)3,2,4,1,5

2)3,2,5,4,1
3)3,2,1,5,4

4)3,2,4,5,1
Correct Answer:3,2,1,5,4
Candidate Answer:3,2,1,5,4

Question 8.A series is given , with one term missing . Choose the correct alternative from the given ones that will complete the series .

TAFATRIT geat & Th Jiegshat fem 1T B, FHaal Ueh v et &1 U 10 fahedt # & ae @Y fached AT St 3egshat A1 G X

CAT , DBT, ECT, ?

Options:
1) DCT

2) FOT
3) FCT

4) FAT
Correct Answer: FDT
Candidate Answer: FDT

Question 9.A series is given , with one term missing . Choose the correct alternative from the given ones that will complete the series .

fAFATRIT geat & Th Jiegshat fem 1T B, FHaad Ueh 9 et &1 U 10 fashedt # & ae T fached AT St 3egshat 1 G X

5,11,24,51, 106, ?

Options:
1) 122

2) 217
3) 120

4) 153
Correct Answer: 217
Candidate Answer: 217

Question 10.Showing a man on the stage , Rita said , " He is the brother of the daughter of the wife of my husband . How is the man on stage related to Rita ?

e O U 8N I @t gu et A e, " ag AN afel A geed O A S ¥ " H IR 30T 37 o Al & A HH 2
Options:

1) SON

GEl

2) HUSBAND

ufa

3) COUSIN

TR R AR AT

4) NEPHEW

S7cheT

Correct Answer: SON
LCEl

S
Candidate Answer: HUSBAND
o

Question 11.The age of Dr. Pandey is four times the age of his son. After 10 years , the age of Dr. Pandey will be twice the age of his son . The present age of Dr.
Pandey's son is

g1, UTUSY T 1Y 3eich I BT Y A IR T[T ¥1 10 FY 99T ST, II0ST 1 HY 3eTeh T T 1Y W &Il g1 Sesh| S5, qosy & G By aciafled 3Ty aeisv ?
Options:

1) 4 years

499

2) 5 years

599

3) 6 years

6ay

4) 8 years

8 Iy



Correct Answer: 5 years

53§
Candidate Answer: [ NOT ANSWERED ]

Question 12.From the given alternative words , select the word which cannot be formed using the letters of the given word :

et 1 § T 2ec AT S U A1V 2Teq & &R T TIWT &k A81 AT ST el ?
INTELLIGENCE

Options:
1) CANCEL

2) NEGLECT
3) GENTLE

4) INCITE
Correct Answer: CANCEL
Candidate Answer: CANCEL

Question 13.If C is coded 3 , DASH is coded as 32 , then DANCE will be coded as

I C Y Tl I8 & 3 f@T ST, DASH @ 32 for@T ST, @Y DANCE &Y 38T 18 3 =17 forar e ?

Options:
1) 20

2) 25
3) 26

4) 27
Correct Answer: 27
Candidate Answer: 27

Question 14.If ' + ' means minus , ' - ' means multiplication , ' = ' means plus , and ' x ' means division , then
T + 1 3T T R, - 1 I IO, + 1 3T FTATE, 3N x F 3 797 B, o oAl weaT bt gt AfSiw 2

15-3+10x5+5
Options:

1) 52

2) 48

3) 22

4)5
Correct Answer: 48
Candidate Answer: 48

Question 15.A certain system is followed to solve the problem . Accordingly find out the correct answer from the alternatives for the unsolved equations .

AT 9T & Fo THARROIT T gl fefenretet o T Teh fARISe JoTTelr i F2iiaT fovarm 3127 &1 S1er TofientoT 1 g el #TeT feiehron 1T &, 3X0 fafRIse qorel & 33 Fefiertor
FT 3ccd} AT hifore

7x4x9 =479
9x5x2 =592
6x9x5 =965
8x6x2="7?

Options:
1) 286

2) 682
3) 628

4) 268
Correct Answer: 682
Candidate Answer: 682



Question 16.Find the missing number from the given alternatives

u 1w fashedt # & oo HEdT AT B

7 10 | 5

16 40| 8

")
o

15

Options:
1) 75

2) 45
3)20

4) 30
Correct Answer: 30
Candidate Answer: [ NOT ANSWERED ]

Question 17.Sanmitra walked 8 m towards the north. He turned to his right and walked 16 m , then he turned to his left and walked 5 m and again he turned to his
left and walked 16 m . In which direction is he from his starting point ?

TIFAT SocX T 3R 8 FIeT Toll 31 R g 16 FIeT well| TR 319wy IR et 5 HieX wofl| @ Tt STt 3R H3T 31X 16 Hex =/ell| 319 a6 319+ TRIF T & v
feRTHE ?
Options:
1) South
gfaror

2) East
kS

3) North
3

4) West
qfgas

Correct Answer: North
3(‘ FR

Candidate Answer: North
3ccd¥

Question 18.Consider the given statement/s to be true and decide which of the given conclusions/assumptions can definitely be drawn from the given statement.
Statements :

1. Some teacher are followers.

2. Some followers are famous.

Conclusions :

1. Some teachers are famous.

I1. Some followers are teachers.

TR U & Ueh A7 & ey @ 1 &, foraeh 3t &Y fasehd/aAaang, 1 3R 11 fAehrer 3 €1 3m9ent faar aTT § & gerded Ocg § I8 98 aeead: od a2ai &
et I 21T 81| 3T foTr eaTT § 7F U 91T aoraey & @ FI9-31 A Rad &9 & T8 fsh/Aeaar el ST ashdr § ?
qFAEE : 1. TS eI I €

2. 3o g 9feg €

sy : 1 g e afeg 8

11 % Igamly 3reamah ¢

Options:

1) Only conclusion I follows

Fad sy [ Td ¥

2) Only conclusion II follows

o frsey 11 T &1

3) Both conclusion I and II follows

sy 131 11 =t w81

4) Neither conclusion I nor II follows

AT aY sy I a8y & 3R A1 & ARy 11 &y &1

Correct Answer: Only conclusion II follows
Fao faswy I T8 B

Candidate Answer: Only conclusion II follows
ool shy 11 TE &1



Question 19.How many triangles are there in the question figure ?

92T A # et fegT € 2

Options:
1) 18

2) 24
3) 28

4) 30
Correct Answer: 28
Candidate Answer: 18

Question 20.Identify the diagram that best represents the relationship among classes given below

a8 3N AT S PR fow 1w aait & e e weer @t gRfiar & ?

Delhi, Sri Lanka , Asia

Options:
1)




Correct Answer:

Candidate Answer:

Question 21.Which answer figure complete the pattern in the question figure?

loT-HY Scal 3MThfcl Te&T 3TTehicT o TTcred el qRT Hai ?




Options:
1)

2)

3)

Correct Answer:

Candidate Answer:

Question 22.From the given figure , select the one in the question the figure is hidden / embedded

& 718 ST IHTaAT 7 F 37 I Il Fr Ifow Forwd weay ampfa e &2



Options:

1)
A
2)
£\
3)
A
a)
‘£E§E§]
Correct Answerl:

Candidate Answer:

Question 23.A piece of paper is folded and cut as shown below in the given answer figures , indicate how it will paper when opened .

I fdlt hrarer 1, P et 3Tpfrat 7 @ 3TaR HigH Fer ST A Wiefe! % 16 J6 e Seal AT SHT fewrs & ?

4 -
. i - 1%
| ’ . i ¥
b oA 5§
¥ 3
» . 1
H . 1 1




Options:
1)

- N
-

ofc¥clo

- W
-

)
| =

Correct Answer:

Candidate Answer: [ NOT ANSWERED ]

Question 24.If a mirror is place on the line MN , then which of the answer figures is the right image of the figure ?

I T 90T T MN @M OR T@T ST AT & T Seall ITHTcat A  laT-Ar 3Tpicr 92T epi 1 FEr Ffaferes g ?

o




Options:
1)
=




Question 25.1In the question, a word is represented by only one set of numbers as given in any one of the alternatives. The sets of numbers given in the alternatives
are represented by two classes of alphabets as in two matrices given below. The columns and rows of Matrix I are numbered from 0 to 4 and that of Matrix II are
numbered from 5 to 9. A letter these matrix can be represented first by row and next by its column , e. g., ' A" can be represented by 01, 13, etc. ., and ' B ' can be
represented by 58 , 69 , etc. . Similarly , you have to identify the set for the word ' FINE '

RrAfaf@a veet 7 fasredt 7 RRU arv Fear-wag, 3w & & g9if gany erffe 717 §, 519 fo iy few arw af smeggh # 81 3meyg [ & Fawt iR dfaed fraear o a4 d &
I1E B, 3R 3TeYg 11 % 5 A 9 o, 31 HTSTGT W Ueh HER T Ugel 3HHT Ui 3N a1 7 w87 HE&AT ST ST ST HeheTT §1 3eT6X0T & T, A 1 01, 13, 3fer gar a=fvar
ST HhelT § 4T B &I 58, 69,371 GaRT GITT ST WarelT & | S8 ¥ ¥ 3T e 2eG 'FINE' & folw Hoqg &f qganter ¢

MATRIX | MATRIX Il

0 |11[(2(3 |4 56|78 |9
o|f [&]nlo |1 5(S |E|H|B|T
1 | 0 F A N 6 H 51 E T B
3 (& [w @1 |8 7B |T|8|E | H
3 |0 |F | A 8 E H T B S
4 IN |1 A 0] 9 T 1|5 E H B
Options:

1) 00, 04,02, 56
2)12,10, 13,67
3)24,19,31,78

4)31,32,33,87
Correct Answer: 00,04, 02, 56
Candidate Answer: 00, 04, 02, 56

Question 26.Who propounded the "Doctrine of Passive Resistance"?

"enfeayet afaer (Fearrg) @ R fhae gfaarfed fear ar ?
Options:

1) Balgangadhar Tilak

SrereremeR faes

2) Aurobindo Ghosh

JiRifSer gy

3) Lala Lajpat Rai

GISINCIC R EIE)

4) Bipin Chandra Pal

e o arer

Correct Answer: Aurobindo Ghosh
3R gy

Candidate Answer: Lala Lajpat Rai
BIEicIcEC ke

Question 27.At Rio Olympics, what was the final position of Dipa Karmakar in her category?

&9 A1 ST AT 3P Well 7 319a7 997 & et a1 T am?

Options:
1)4

2)5
3)6

4)7
Correct Answer: 4
Candidate Answer: 4

Question 28.The 14th Finance Commission has recommended increase in States share in net proceeds from tax collection from 32% to

14 3 faed 3mAT & F aGN A g aTel foder 3Ty 7 T 1 BEAr 32% @ Tt fherat gfaierd et & fawiRer v g ?

Options:
1) 35%

2) 40%
3) 2%

4) 45%



Correct Answer: 42%
Candidate Answer: [ NOT ANSWERED ]

Question 29.Fiscal policy in India is formulated by

R & TSR AT Pl TT FATE ?
Options:

1) Reserve Bank of India

R Rerd d

2) Planning Commission

NSTAT TINRT

3) Finance Ministry

faea A=ty

4) SEBI

&Y

Correct Answer: Finance Ministry
faea A=ty

Candidate Answer: SEBI
[l

Question 30.Which of the following has pH value 7?

T da o pH A 78 ?
Options:

1) Pure Water

e STl

2) HyS04

3) Sodium Carbonate

AT Fefae

4) HCI

Correct Answer: Pure Water
UqE ST

Candidate Answer: Pure Water
e el

Question 31.When ice cubes are made, the entropy of water

S 9% 949 &, dF SToT ¥ Teerdl

Options:

1) does not change

afafda &t g

2) decreases

T S g

3) increases

SeSdE

4) may either increase or decrease depending on the process used

T STShT TS 1S, F€ 2T §T T IT §¢ Febell §

Correct Answer: decreases
g ST &

Candidate Answer: decreases
g ST &l

Question 32.Two vectors are said to be equal if

2 afeRr (deFeR) SR Bl & afe

Options:

1) only their magnitudes are same

el 3eTh 3R Teh TA &

2) only their directions are same

Hael a7 fERME Teh g1

3) both magnitude and direction are same

3T TR 3T R &t vk &r

4) magnitudes are same but directions are opposite

TR Ta gY foreqg Ry ol gt

Correct Answer: both magnitude and direction are same
3T TR 3T R & v &r

Candidate Answer: both magnitude and direction are same

3eTeh 3R AR TR AT Ueh &l



Question 33.The chemical component that is invariably found in all viruses is

et o Tt WA aiforarda: welr fwmopit # gy ST §?
Options:

1) proteins

qiET

2) lipids

fafos

3) DNA

ATAT

4) RNA

IRTAT

Correct Answer: proteins

9T

Candidate Answer: lipids
s

Question 34.Which is used as an Air pollution indicator?

AT YeNUT g & ¥ F eAfaf@d & & e e marg ?
Options:

1) Algae

arer

2) Fungi

g

o

3) Bacteria
TawToT

2

(FFafam)
4) Lichens

ElEETl
()

Correct Answer: Lichens

Sehet

()
Candidate Answer: Bacteria
sTor

=]

(SFafam

Question 35.The study of mountains is known as

T 3 I T FAT Fedd & ?
Options:

1) Oncology

3iteRTeliait

2) Lithology

3rerezoT (foriteilah)

3) Orology

i

4) Ornithology

EinEeicic

(IferoRmeToT)
Correct Answer: Orology

3RSt

Candidate Answer: Ornithology
EinEricic

(TferoRTeToT)

Question 36.Salination of soil is caused by

T % oaolienToT R FROT BhelT § 2



Options:

1) Pesticides
RIECTIN)

2) soil erosion

A e

3) excess irrigation
e R

4) crop rotation
e 3TdcleT

Correct Answer: excess irrigation
31t R

Candidate Answer: Pesticides
dgeherelt

Question 37.ICC World T20 in 2016 was won by

Y 2016 F 37S W & g5 FT A20 @A fhe= shar ?
Options:

1) India

A

2) England

giols

3) New Zealand

IR CIEk

4) West Indies

A GBIt

Correct Answer: West Indies
A SwalaT

Candidate Answer: West Indies

A€ TSl

Question 38.Which one of the following was established with a definite provision under an Article of the Constitution of India?

Frfaf@a & @ frehr wuraeT sRcte @fen & rgede & el e suser & egar $i a1 @ ?
Options:

1) Union Public Service Commission

HY ik HaT 3T

2) National Human Rights Commission

T AlAT HURR 3T

3) Election Commission

TeATd T

4) Central Vigilance Commission

Feard TlehdT AT

Correct Answer: Election Commission

AT 3T

Candidate Answer: National Human Rights Commission
TSET AT TAFR 3TIT

Question 39.The President can advance money to meet unforeseen expenses from the

Tegufa frfaf@d & & frg Ay 3 R s @ & fav ae & e 82
Options:

1) Consolidated Fund of India

IR Fr FAfera A

2) Grants of the Central Government

&g TR T IHTeld

3) Aid from the Union Government

T THR T FgrrdT AT

4) Contingency Fund

3TeRieAF A

Correct Answer: Contingency Fund

TR fafer

Candidate Answer: Contingency Fund
TS Al

Question 40.The famous Vishnu temple at Angkor Wat in Cambodia was built by

FrafEaT # U AR aTe 1 GUTAg Asvr-Afeey fhee srefarar a1 ?



Options:

1) Shrutavarman

HIaHA

2) Suryavarman II

T 11

3) Indravarman

Sega

4) Aniruddha

Ifawe

Correct Answer: Suryavarman II
Faae 11

Candidate Answer: [ NOT ANSWERED ]

Question 41.In IT, the technique of delaying outgoing acknowledgements temporarily is known as

IS8, 3 T3NSI TFAToISTHE Y IEARIT TG A ST T Holet T dAeheioh Y FIT gl & ?
Options:

1) AR Acknowledgement

T 3R TaFATooTAe

2) AR request

T 3R Reawe

3) Piggybacking

[EEICIET)

4) Piggyframing

TamsTHaT

Correct Answer: Piggybacking
[EEiICIET)

Candidate Answer: [ NOT ANSWERED ]

Question 42.If speed of rotation of the earth increases, the weight of the body

Ie g2t & goiel i 1 5 STl &, o QR 7 Fofer
Options:

1) decreases

e Sam

2) increases

&6 ST

3) remains the same
EERGT

4) may increase or decrease
¢ I7 §¢ TohdT &

Correct Answer: decreases
e AT

Candidate Answer: may increase or decrease
T IT 9¢ ThdT &

Question 43.Which among the following countries is facing debt crisis?

Rafef@d & O Hlad 22 & Hor-dee § ?
Options:

1) China

Gic)

2) Canada

ShallsT

3) Germany

S

4) Greece

AT ()

Correct Answer: Greece

AT ()

Candidate Answer: [ NOT ANSWERED ]

Question 44.The new symbol of Indian currency is designed by

AN T 1 AT Felleh-Talog foraw foatmgeT fomam ot ?



Options:

1) Santosh Kumar
Ty FAR

2) Y.V. Reddy
CIEIREC]

3) Udayakumar
ECRETIN

4) Dr. Rangarajan
3. TR
Correct Answer: Udayakumar
3CTDHAN

2
Candidate Answer: Udayakumar
3CTPHAR

2

Question 45.What is MUDRA?

#aT (MUDRA) FaT g ?

Options:

1) Development and Refinance Agency

e 3R getfded volwdr

2) Scheme for Agricultural Insurance

HIY AT DT

3) New Planet Discovered

@IS 3137 137 g

4) Development and Regulatory Authority for Urban Township
AE AITRIFROT o Torv fFerer AR e srfretor

Correct Answer: Development and Refinance Agency

e 3R geffded Tol=dr

Candidate Answer: Development and Regulatory Authority for Urban Township

T AIRTRIOT o Tolv faer 3R fameres arftresor

Question 46.Which of the following is not correctly matched?

efof@a 7 8 e AT adr 8T g ?
Options:

1) Sania Mirza - Tennis

iferar @Bt - 2w

2) Sania Nehwal - Badminton

ST AgaTd - Ssfie

3) Mary Kom - Boxing

R FIHA - FrfereT

4) Pankaj Advani - Wrestling

Gehof JTSATON - et

Correct Answer: Pankaj Advani - Wrestling
Gehof JTSATON - et

Candidate Answer: Pankaj Advani - Wrestling
Gehol JTSATON - et

Question 47.Which of the following State is surrounded by Bangladesh from three sides?

rfaf@a # 3 fFT T & i O FiTeeRr fr g ?
Options:

1) Nagaland

ATl

2) Assam

3|H7

3) Arunachal Pradesh

3T TSRT

4) Tripura

B

>
Correct Answer: Tripura

BT

>

Candidate Answer: [ NOT ANSWERED ]

Question 48.Which enzyme digests proteins in the stomach?

AR H ... TeoTigd W Y Tal] H Feg AT g ?



Options:

1) Trypsin

feaeeT

2) Pepsin

ftesT

3) Salivary amylase
R TiHer

4) Pancreatic canal
3PTIRRA el

Correct Answer: Pepsin

aftaa

Candidate Answer: Pancreatic canal
3P Felr

Question 49.Fermentation is a type of process .

ThUEsT Ueh YR T gl

Options:

1) Aerobic Respiration
arg @a

2) Anaerobic Respiration
3arafaT eqaT

3) Exothermic Reaction
SSAT 3eAr JifAfRaT

4) Transpiration

Elsizeeny

Correct Answer: Anaerobic Respiration

AT qTT

Candidate Answer: Anaerobic Respiration

AT qTT

Question 50.The first Muslim to be elected President of 'Indian National Congress' was?

SR TS HIIH T GeAT T T2 A LT i AT ?
Options:

1) Maulana Azad

At 3ree

2) Mohammed Ali

HgFC, 3TN

3) Badruddin Tyabji

FETLe AT

4) Shah Wali-ullah

ME-TeA-3eellg

Correct Answer: Badruddin Tyabji
EEEe TSI

Candidate Answer: Maulana Azad
FHieaT 39TE

Question 51.A,B and C contract a work for [1 440. Together A and B are to do 9/11 of the work. The share of C should be:

A, B 3R C Rl 1T Y 1 440 H ey T SHFT oI &1 A 31 B oY TSR 9/11 81T 1A =T &1 C 3T IR 33T g1 1R T ?

Options:
1) 75

2) 90
3) 100

4) 80
Correct Answer: 80
Candidate Answer: 80

Question 52.A dealer marks a washing machine for 1 7500, and allows a discount of 6% on it. Find the selling price

T skt arfRler &eliet o) 3ifdha e (1 7500 forgar & 3R 38 W) 6% &Y ge &aT &1 3w fshr o 7 Hifiw ?

Options:
1) 6850

2) 7050
3) 7250

4) 6950



Correct Answer: 7050
Candidate Answer: 7050

Question 53.The sum of the cubes of two numbers in the ratio 3 : 4 is 5824. The sum of the numbers is:

3 1 4 3 IOt H & HEI3T & T 7 9T 5824 §| HEATIHT T AT FhetaT & ?

Options:
1)
(5824)3/2

2) 28
3) 24

4) 14
Correct Answer: 28
Candidate Answer: [ NOT ANSWERED ]

Question 54.Loss of 20% on selling price is equal to x% loss in cost price. What is x?

TSl Fed 9T 20% T &1faT, oIRIT Hed H x% 3T gliel & aqa &1 x feheferr & ?

Options:
1) 20%

2) 20

3)

1625
3 (1]

4) 16
Correct Answer:

1625"
3%

Candidate Answer: 20%

Question 55.In a motor of 120 machine parts, 5% parts were defective. In another motor of 80 machine parts, 10% parts were defective. For the two motors
considered together, the percentage of defective machine parts were

120 A gt Y et 7 5% Yof T A1 80 FMefr It Y gy AT 7 10% Yof T &| At Al i AR T 7RMAT Goif 1 wferere et ar ?

Options:
1)7

2)6.5
3)75

4)8
Correct Answer: 7
Candidate Answer: [ NOT ANSWERED ]

Question 56.If (23)2= 4* then 3X is equal to

e (23)2 = 4@, oY 3X fopes WX & ?

Options:
1)3

2)6
3)9

4) 27
Correct Answer: 27
Candidate Answer: 6

Question 57.A train, 200 m long, is running at a speed of 54 km/hr. The time in seconds that will be taken by train to cross a 175 m long bridge is

200 FreX o1& Th ¢ 54 .. /erer & a1t & Sls W 81 175 Hie 7 G 1 a5 fohelel TAT (FehUs) H IR HL ?

Options:
1) 12.5

2) 20
3)25

4) 10
Correct Answer: 25



Candidate Answer: 12.5

Question 58.Which of the following ratios can be the ratio of the sides of a right angled triangle?

fArafafld & @ -8 regurd Fwen ol fegsr i agemsit 1 g aohar 82
Options:

1) 9:6:3

2) 13:12:5

3) 7:6:5

4) 5:3:2
Correct Answer: 13:12:5
Candidate Answer: 9:6:3

Question 59.Number of circles that can be drawn through three non-colinear points is

et X Teig3it & fohcel good S=11T ST Fehel & ?
Options:

1) exactly one

Had Teh

2) two

ar

3) three

GiGH

4) more than three

e & 3R

Correct Answer: exactly one
Had Th

Candidate Answer: three

Gic

Question 60.Value of (cos 53° - sin 37°) is

(cos 53° - sin 37°) ST AT FATE ?
Options:

1)0

2)1

3) 2sin 37°

4) 2 cos 53°
Correct Answer: 0
Candidate Answer: 0

Question 61.

1 5x
If 4x+ — =5, x#0, then th | f—z—'
S X en the value of z—g——m—— s

1 S5x
oG ax+ - =58, LZyiox 1

T A FaTA
Options:
1) 12

2)1/3
3)2/3

4)3
Correct Answer: 1/3
Candidate Answer: [ NOT ANSWERED ]



Question 62.

If C+ R ¥3, then thevalueof 3+ 1 isequalto
c. o3

ﬂﬁ:m% _v g c%% H1OF

fas TR g ?

Options:
1)0

2) 3vV3
3) 1/V3

4)6V3
Correct Answer: 0
Candidate Answer: 0

Question 63.What least value must be assigned to ‘*’ so that the numbers 451 * 603 is exactly divisible by 9?

"X T = geTclH ToheTell Hed @ SV foh 451*603 FEar 9 & I avg faeniord g1 s ?
Options:

1)7

2)8

3)5

4)9
Correct Answer: 8
Candidate Answer: 8

Question 64.The average of 9 observations was found to be 35. Later on, it was detected that an observation 81 was misread as 18. The correct average of the
observations is

9 UeTult &1 31T 35 SWT IRAT| ST & IAT Telr T T&T0T 81 Y ITeicT & 18 TeT IT=AT AT WeTuN ohr TeY 39T foha=m g ?

Options:
1) 28

2) 42
3) 32

4) 45
Correct Answer: 42
Candidate Answer: [ NOT ANSWERED ]

Question 65.If x = 222, y = 223, z = 225 then the value of X3 + y3 + 23 - 3xyz is

FiEx =222,y =223,2=2258%, @l + Y3 + 23 - 3xyz A AT FATE ?
Options:

1) 4590

2) 4690

3) 4950

4) 4960
Correct Answer: 4690
Candidate Answer: 4960

Question 66.

1/3

If x=23"¥ _ 3-1/3then 3% + 9x is equal to

gfg x= 38 - 3-8 %’.?ﬁax”ﬂxaﬂ
o [Foe /e T 2



Options:
1)5

2)6
3)7

4)8
Correct Answer: 8
Candidate Answer: [ NOT ANSWERED ]

Question 67.Two circles touch each other internally. The radius of the smaller circle is 6 cm and the distance between the centre of two circles is 3 cm. The radius of
the larger circle is

2 god T gE i 3T 1 3R TIT A &1 BIE Fed T o1 6 WAl §, 3 Al gedll & dhal & = gfr 3 T ¥1 3 e 7 Piwan vty 5 2
Options:

1)7.5cm

7.5 3.

2)9cm

9 .7

3)8cm

8 7.

4) 10 cm

10 &4

Correct Answer: 9 cm
9 7.

Candidate Answer: 9 cm
9 {.a.

Question 68.PQR is an equilateral triangle. MN is drawn parallel to QR such that M is on PQ and N is on PR. If PN = 6 cm, then the length of MN is

PQR ek HHaTE F97el & MN, QR & FHIA $H TR S11aT I1T & o M,PQ TR & 31 N, PR WX &1 I PN = 6 F.AL. &1, & MN Y FFaTS TRde gl ?
Options:

1)3cm

394

2)6cm

6 ..

3)12cm

12 3.

4)4.5cm

4,5 J,

Correct Answer: 6 cm

6?7
Candidate Answer: [ NOT ANSWERED ]

Question 69.If cosec 0 + sinB = 5/2 then the value of cosecO - sinB is

Ife cosec B + sin B = 5/2 &, 9 cosec 0 - sin 6 F ART AT ST ?

Options:
1) -3/2

2)3/2
3) —V3/2
4) V32

Correct Answer: 3/2
Candidate Answer: [ NOT ANSWERED ]

Question 70.Two men are on opposite sides of a tower. They measure the angles of elevation of the top of the tower as 30° and 45° respectively. If the height of the
tower is 50 m, the distance between the two men is (Take V3 = 1.73)

3 afad ve fa] &1 R fermait 7 @3 §1 3 <fa” & < &7 Setal @ioT homer: 30° 3R 45° A § | I 2fax dr Fars 50 e § o At cafaraar & o gt feestr §
? (AT V3 = 1.73)
Options:

1) 136.5m

136.5 &I
2)50V3m

50 V3 &

3)100 V3 m

100 V3 #.
4)1355m

135.5 &I,



Correct Answer: 136.5m
136.5 &I,

Candidate Answer: [ NOT ANSWERED ]

Question 71.The radius and the height of a cone are each increased by 20%. Then the volume of the cone increases by

wa@@rﬁm&ﬁvjﬁr@maﬁzo% wﬁmm%l?ﬁ?@wmﬁﬁmwm?

Options:
1) 20%

2) 20.5%
3) 62%

4) 72.8%
Correct Answer: 72.8%
Candidate Answer: 72.8%

Question 72.A bar graph showing the heights of six mountain peaks. Study the bar graph and answer questions

R I T T HITAT 3R TFATART TEAT o 3caR QTS| Ih 7 6 i R 1 Fang =iy ar=ft &)
8800

7500

I 6500

IMh H 6 Td RIERT T Fars gefieft =it &1 Tef st i 3itaas Fars (Fex #) 79 hifsw ?

Options:
1) 7601.5

i 8600

8200
0
™
6000

=
{ e
“m an
v £

m

i

[
) 1

The average height of all the peaks (in meters) is

- “mTm eI
2 g a8 a8 ] 8 B

&

€

WAt e Pk

2) 7600
3) 7599.5

4) 7610
Correct Answer: 7600
Candidate Answer: [ NOT ANSWERED ]

Question 73.A bar graph showing the heights of six mountain peaks. Study the bar graph and answer questions

IR ITF I FETTA HITFT 3R AFATAGT AT o 3caR ST | M6 F 6 T FRIERT Y Fars gy arft g

wa0 8600 B800

8200
w00 7500
™
6000

=
§ sdod
“m inoo
v 00

moe

o

) 1 €

Which peak is the second highest ?

“mTm eI
8

W WUt Pk

SEU e 3 Riew e § ?



Options:
1)B

2)C
3)A

4 E
Correct Answer: C
Candidate Answer: C

Question 74.A bar graph showing the heights of six mountain peaks. Study the bar graph and answer questions

IR I T FETTT PIAT 3R AR T 9aT & 3car QfAT| IF 7 6 gda R 1 Fars =iy ar=fr g

8800

=000

2900 8600
e 7500
e 6500
6000
: I

“mTm - wT
g 8 8 a8 8

8

[

Write the ratio of the heights of the highest peak and the lowest peak

Feda# RIER 3R Feras RIeR i 38 &1 3egurd adsy ?

Options:

1) 22:15

2) 15:22

3) 20:13

4)13:22

Correct Answer: 22:15
Candidate Answer: 22:15

Question 75.A bar graph showing the heights of six mountain peaks. Study the bar graph and answer questions

R I T JETTT AT 3R AR T T2a1 & 3car QfAT| IF 7 6 gda AR v Fars =iy ar=fr g

8800

=

2200 8600
oo TS0
fuii= 6500
B000
0
50 I

@

sa-~mm3 @ *emTmoaT
g 8 8 a 8

8

When the heights of the given peaks are written in ascending order, what is the average of the middle two peaks?

IfE fow 1w gda ARt Fr Fars IRIEr e 7 Ty S €, o \eT & & ReRt A Jiaa Fr g ?
Options:

1) 7950 m

7950 =,

2) 7560 m

7560 .

3) 7650 m

7650 .

4) 7850 m

7850 .

Correct Answer: 7850 m
7850 .



Candidate Answer: 7850 m
7850 .

Question 76.In the following question, out of the four alternatives, choose the word which best expresses the meaning of the given word and click the button
corresponding to it.

CREDULOUS

Options:

1) FUNNY

2) SILLY

3) INNOCCENT

4) GULLIBLE

Correct Answer: GULLIBLE

Candidate Answer: FUNNY

Question 77.1In the following question, out of the four alternatives, choose the word which is opposite in meaning to the given word and click the button corresponding
to it.

REASSURE

Options:

1) COMFORT

2) CONSOLE

3) INSPIRE

4) DISCOURAGE

Correct Answer: DISCOURAGE

Candidate Answer: DISCOURAGE

Question 78.Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word and click the button corresponding to it.
Options:

1) Defianse

2) Defyance

3) Difiance

4) Defiance

Correct Answer: Defiance

Candidate Answer: Difiance

Question 79.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

Too great a (A)/ variety of studies (B)/ distract the mind (C)/ No Error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: C

Candidate Answer: A

Question 80.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

The severe cyclonic storm (A)/ has left behind (B)/ a trial of misery (C)/ No Error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: C

Candidate Answer: B

Question 81.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

My sister has been (A)/ interested in medicine (B)/ ever since she was a child (C)/ No Error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: D

Candidate Answer: D

Question 82.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

Itis university of excellence.



Options:

1)a

2) an

3) also

4) one

Correct Answer: a

Candidate Answer: an

Question 83.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

They have not had much time for social activities and I have not
Options:

1) done so

2) either

3) also

4) gone

Correct Answer: either
Candidate Answer: gone

Question 84.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

Food was packed, and they , @ merry, delighted party.
Options:

1) went off

2) start off

3) cut off

4) set off

Correct Answer: set off
Candidate Answer: set off

Question 85.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

pull a fast one
Options:

1) as fast as lightning
2) play a trick

3) carry a heavy burden
4) take a deep breath

Correct Answer: play a trick
Candidate Answer: play a trick

Question 86.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

grease the palm

Options:

1) dirty one's hands

2) work in a garage

3) slip and fall

4) bribe

Correct Answer: bribe
Candidate Answer: slip and fall

Question 87.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

turn turtle

Options:

1) slow like a turtle
2) turn like a turtle

3) over-turn

4) a game turtles play

Correct Answer: over-turn
Candidate Answer: slow like a turtle

Question 88.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

Action that is likely to make people very angry
Options:

1) Inflationary

2) Inflammable

3) Commensurable

4) Inflammatory

Correct Answer: Inflammatory

Candidate Answer: Inflammatory



Question 89.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

A humorous drawing dealing with current events or politics.
Options:

1) Sketch

2) Illustration

3) Cartoon

4) Skit

Correct Answer: Cartoon

Candidate Answer: [ NOT ANSWERED ]

Question 90.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

Act of mercy killing

Options:

1) Suicide

2) Euthanasia

3) Immolation

4) Asphyxiation

Correct Answer: Euthanasia
Candidate Answer: Asphyxiation

Question 91.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

They have had a real good time.
Options:

1) have had a

2) have had really

3) have had a really

4) No improvement

Correct Answer: have had a really
Candidate Answer: have had a really

Question 92.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Electricity has modernized the march of modern events.
Options:

1) revolutionised

2) developed

3) created

4) No improvement

Correct Answer: revolutionised
Candidate Answer: created

Question 93.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

The sales boy told the consumer not to touch the products on display.
Options:

1) buyer

2) shopper

3) customer

4) No improvement

Correct Answer: customer
Candidate Answer: buyer

Question 94.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement”.

Please make it a point to send the letter at my address.
Options:

1)on

2)to

3)in

4) No improvement

Correct Answer: to

Candidate Answer: on

Question 95.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement”.

Sunil and I helped to sell tickets.



Options:

1) we

2) us

3) me

4) No improvement

Correct Answer: No improvement

Candidate Answer: me

Question 96.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

To know language is to be able to speak it; even a child who does not yet attend school can speak his or her language. In order to speak a language it is important to
listen to it and to read a few pages in it everyday. A child picks up language and learns to talk just as (s)he learns to walk. Walking and talking comes naturally to a
child as it grows. In our country, a child may grow up speaking more than one language, if these languages are spoken in the home and in the neighbourhood. we
call this multilingualism. A child speaks a language or languages much before (s)he starts going to school. To know a language then is first of all to be able to speak it
as easily and naturally as a tree year old child does. Later on the child will learn to read and write in that language. In order to read and write in a language, one has
to speak it. But it is possible to speak a language but not able to read or write in it. A baby does not speak until it is nine months old but it understands a few words at
six months of age. It has been listening ever since it was born, and even a little before that. So the first strategy in speaking a language is to listen.

One of the activities of a child before it is even born is
Options:

1) seeing

2) listening

3) understanding

4) talking

Correct Answer: listening

Candidate Answer: understanding

Question 97.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

To know language is to be able to speak it; even a child who does not yet attend school can speak his or her language. In order to speak a language it is important to
listen to it and to read a few pages in it everyday. A child picks up language and learns to talk just as (s)he learns to walk. Walking and talking comes naturally to a
child as it grows. In our country, a child may grow up speaking more than one language, if these languages are spoken in the home and in the neighbourhood. we
call this multilingualism. A child speaks a language or languages much before (s)he starts going to school. To know a language then is first of all to be able to speak it
as easily and naturally as a tree year old child does. Later on the child will learn to read and write in that language. In order to read and write in a language, one has
to speak it. But it is possible to speak a language but not able to read or write in it. A baby does not speak until it is nine months old but it understands a few words at
six months of age. It has been listening ever since it was born, and even a little before that. So the first strategy in speaking a language is to listen.

It is necessary for one to the language before (s)he writes in that language.
Options:

1) sing

2) spell

3) speak

4) none of the above

Correct Answer: speak

Candidate Answer: speak

Question 98.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

To know language is to be able to speak it; even a child who does not yet attend school can speak his or her language. In order to speak a language it is important to
listen to it and to read a few pages in it everyday. A child picks up language and learns to talk just as (s)he learns to walk. Walking and talking comes naturally to a
child as it grows. In our country, a child may grow up speaking more than one language, if these languages are spoken in the home and in the neighbourhood. we
call this multilingualism. A child speaks a language or languages much before (s)he starts going to school. To know a language then is first of all to be able to speak it
as easily and naturally as a tree year old child does. Later on the child will learn to read and write in that language. In order to read and write in a language, one has
to speak it. But it is possible to speak a language but not able to read or write in it. A baby does not speak until it is nine months old but it understands a few words at
six months of age. It has been listening ever since it was born, and even a little before that. So the first strategy in speaking a language is to listen.

Multi-lingualism means

Options:

1) speaking more than one language

2) speaking only one language

3) speaking any language

4) speech

Correct Answer: speaking more than one language
Candidate Answer: speaking any language

Question 99.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

To know language is to be able to speak it; even a child who does not yet attend school can speak his or her language. In order to speak a language it is important to
listen to it and to read a few pages in it everyday. A child picks up language and learns to talk just as (s)he learns to walk. Walking and talking comes naturally to a
child as it grows. In our country, a child may grow up speaking more than one language, if these languages are spoken in the home and in the neighbourhood. we
call this multilingualism. A child speaks a language or languages much before (s)he starts going to school. To know a language then is first of all to be able to speak it
as easily and naturally as a tree year old child does. Later on the child will learn to read and write in that language. In order to read and write in a language, one has
to speak it. But it is possible to speak a language but not able to read or write in it. A baby does not speak until it is nine months old but it understands a few words at
six months of age. It has been listening ever since it was born, and even a little before that. So the first strategy in speaking a language is to listen.

A child has been ever since it was born



Options:

1) speaking

2) reading

3) walking

4) listening

Correct Answer: listening
Candidate Answer: listening

Question 100.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives
and click the button corresponding to it.

To know language is to be able to speak it; even a child who does not yet attend school can speak his or her language. In order to speak a language it is important to
listen to it and to read a few pages in it everyday. A child picks up language and learns to talk just as (s)he learns to walk. Walking and talking comes naturally to a
child as it grows. In our country, a child may grow up speaking more than one language, if these languages are spoken in the home and in the neighbourhood. we
call this multilingualism. A child speaks a language or languages much before (s)he starts going to school. To know a language then is first of all to be able to speak it
as easily and naturally as a tree year old child does. Later on the child will learn to read and write in that language. In order to read and write in a language, one has
to speak it. But it is possible to speak a language but not able to read or write in it. A baby does not speak until it is nine months old but it understands a few words at
six months of age. It has been listening ever since it was born, and even a little before that. So the first strategy in speaking a language is to listen.

To know a language one must be able to?

Options:

1) Speak it as easily and naturally as a three year old child.

2) Read it well all the time.

3) Write it quickly

4) Sing in the language

Correct Answer: Speak it as easily and naturally as a three year old child.
Candidate Answer: Speak it as easily and naturally as a three year old child.



